
2014 TECH 3 Master Cylinder

Issue3 11/2013

Tech3 Lever and Cam
Sub assembly

HBSP316
Tech3 clamp

HBSP317
Tech3 piston

HBSP315
Tech3 lid

HBSP309
Tech3 diaphragm

HBSP310
Tech3 deflector plate

M3x8
Dome head srew (x2)

HBSP314 (R or L)
Tech3 mcyl body

HBSP321
Tech3 lever pivot

HBSP313
Flanged bush

HBSP311
Lever pivot circlip

HBSP163
Straight connector

HBSP26
M6 sealing washer

HBSP258
M5x16
Alloy cap screw (x2)

HBSP109
Mini Primary piston seal

HBSP108
Mini Secondary piston seal

HBSP231
Tech piston spring

HBSP272
Tech Evo Piston insert

HBSP326
Tech3 stop plate

M3x6
Dome head srew

HBSP219
Tech adjuster screw (x2)

HBSP319
Tech3 brass plunger (x2)

HBSP312
Tech3 lever spring

HBSP320
Tech3 lever blade

HBSP233
Crescent ring (x2)

HBSP275
Tech Evo cam roller

HBSP276
Tech Evo cam bush

HBSP274
Tech Evo cam roller pin

HBSP230
Tech cam grub screw

HBSP318
Tech3 lever cam

Additional SRAM direct shifter mount available

HBSP325 (R or L)
Tech3 SRAM shifter mount

M5x10
Dome head srew (x2)

HBSP322
Tech3 shifter mount nut


